¥ L RbJRTDFMET —F

fT#k L Rb JiFOFET — ¥

163

L1 EBRrmE
RATFTELL %] RFEE" LLE LY i)t
ﬁ%%% 85 87 85 87 Y12 3 O O
Rb Rb Rb Rb | [glem®] | [°C] [°C]
37 72.17 27.83 |84.9118 | 86.9097 | 85.4678 | 1.532 38.89 679.5
i -2 B EAT (M, = 1.6605402 X 1027[kg]) THik L L7- B &
L.2 EfmEE
ETiE BRAEY 5Su2 5P S5P32
| A[MHz] | AIMHz] | A[MHz] | B[MHz]
8Rb 5/2 1011.910 | 120.7 25.009 25.88
Rb 312 3417.341 | 406.2 84.845 12.52
L.3 D #8(5Su2—5 0 BR) DI FHRE
MEE | ERRE Fin BRME | RARETEE | faFNEE
Eiiie) A T r=2y Oabs k
B{r [nm] [ns] [MHz] [10m?] [mW]
E 780.24 26.63 5.98 290.7 1.64
e FKBRE (SCHK[109]4Y) 314/ 2n ahc/32% ¢
mas | mmEx | o2 CEP | summan |77 RR
=g Vv, o, 1272w, | ) T To
B [mm/s] [kHz] [nK] [nK]
%Rb 6.02 3.86(15.44) 370 1435
¥Rb 5.88 3.77(15.08) 362
e hk /M hk?/2M kgT, 12 =ho, |KTy =h1"12
L4 IRILX—HHER
MHz uK G mm wE"
1MHz = 1 47.99216 |0.71447751|  0.47 hv
14K =10.02083674 1 0.01488738| 0.0098 kgT
1G = ||1.39962418 | 67.17099 1 0.66 1B
imm = 2.13 102 15.2 1 mgl

** h = 6.6260755(40) X 10°34[Is)iE 7" 7 o 7 EH, ks =1.380658(12) X 102K iZ AR /LY ~ L EH
8= 9.2740154(31) X 10T LA —T #et-, miL ¥Rb i FDE &, ¢=9.8 (TE ) IEE
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SCHRTIILIE & VI« In Ptorr] = A—TE+CT +DINT  (T[KD)
A B C D
A (T<312K) -94.04826 1961.258 | -0.03771687 4257526
EA (T>312K) 15.88253 4529.635 | 0.00058663 -2.99138
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